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C
e

polycopié
est

le
seuldocum

ent
autorisé

pendant
les

contrôles
notés.Ilpeut

être
annoté

profusém
ent,m

ais
sans

ajout
de

feuille.

N
’hésitez

pas
à

m
e

contacter
ou

à
dem

ander
des

explications
à

vos
encadrants

siun
point

vous
sem
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obscur.P
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Vadem
ecum

Structure
d’un

PR
O

G
R

A
M

M
E

(p.4)

w
ith

Foo
;

procedure
M

ission
is

package
F

renam
es

Foo
;

D
éfinitions

D
i

∈
defin

ition

begin
C

orps
du

program
m

e
principal

B
;

∈
b
loc

end
M

ission
;

PR
O

C
ÉD

U
R

E
sans

argum
ent

(p.
6)

procedure
B

ar
is

D
éfinitions

éventuelles
begin

C
orps

de
la

procédure
B

end
B

ar
;

∈
defin

ition

B
ar

PR
O

C
ÉD

U
R

E
avec

argum
ents

en
entrée

(p.18)

procedure
B

ar
(X

:
F

loat)
is

D
éfinitions

éventuelles
begin

C
orps

de
la

procédure
B

;
end

B
ar

;
∈
defin

ition

B
ar

X
:Float

FO
N

C
TIO

N
(p.20),par

exem
ple
R

×
N

−→
R

function
Foo

(X
:

F
loat

;
Y

:
Integer)

return
F

loat
is

D
éfinitions

éventuelles
R

esultat
:

F
loat

;
begin

C
orps

de
la

fonction
B
∈
b
loc

B
;Se

term
ine

forcém
ent

par
return

return
R

esultat
;

end
Foo

;
∈
defin

ition

Foo
X

:Float
Y

:Integer
Float

D
éfinitions

de
C

O
N

STA
N

TES
(p.10)

P
i

:
constant

F
loat

:=
3.141593

;
V

itesse_Lum
iere

:
constant

F
loat

:=
3.0E8

;
N

om
bre_E

leves
:

constant
Integer

:=
462

;
N

om
_A

ppareil
:

constant
S

tring
:=

"A380"
;

E
st_E

n_M
arche

:
constant

B
oolean

:=
F

alse
;

∈
defin

ition

C
O

N
V

ER
SIO

N
(p.14)

R
éelvers

entier
:

Integer(e)
Entier

vers
réel:

Float(e’)

VA
R

IA
B

LES
(p.12)

D
éfinitions

de
variables

(
∈
defin

ition
)

A
cceleration

:
F

loat
;

C
om

pteur
:

Integer
;

...
beginA

ffectations
(
∈
b
loc

)
A

cceleration
:=

Force
/

M
asse

;
A

cceleration
:=

Lire_A
ccelerom

etre
;

A
cceleration

:=
A

cceleration
*

1.05
;

Incrém
ente

le
com

pteur
C

om
pteur

:=
C

om
pteur

+
1

;

Bloc
SÉQ

U
EN

C
E

(p.8)

B
1 ;

B
2 ;...

B
n

;
∈
b
loc

Bloc
IF

(p.24)

ifcondition
then

B
;

else
ou

elsif
B

′;
end

if;
∈
b
loc

Bloc
FO

R
(p.26)

for
x

in
a

..
b

loop
B
(x
);

end
loop

;
∈
b
loc

Bloc
W

H
ILE

(p.28)

w
hile

condition
loop

B
;

end
loop

;
∈
b
loc

Q
uelques

types
:

Integer
(entiers)

Float
(réels)

B
oolean

(vrai/faux)
S

tring
(chaîne)
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Vocabulaire

Identificateurs

—
U

n
iden

tifi
cateu

r
est

un
nom

quisertà
repérerune

entité
du

program
m

e
(telle

qu’un
sous-program

m
e,un

type,une
variable,etc.).En

A
da,les

identificateurs
ne

doivent
pas

com
porter

d’espace,et
on

évitera
les

accents.

Exem
ples

d’identificateurs
:N

om
bre_M

ots,D
uree_Tem

porisation,P
renom

_C
lient.

—
Foo,B

ar,M
oo,...ne

signifientrien
de

spécial,ils
sontutilisés

dans
ce

docum
ent

lorsqu’ily
a

besoin
d’un

identificateur.

(O
n

pourrait
les

rem
placer

par
“Toto”,“Lady_G

aga”,ou
juste

“X
”).

C
om

m
entaires

—
U

n
com

m
en

taire
dans

un
program

m
e

est
un

m
orceau

qui
n’est

pas
com

pilé
(et

qui
est

donc
ignoré

par
l’ordinateur).

En
A

da,
un

com
m

entaire
com

m
ence

par
deux

tirets,par
exem

ple
:

V
O

LU
M

E
D

U
M

O
T

E
U

R
E

N
C

M
3

C
ylindree

:constantInteger:=
2450

;

B
locs

—
U

n
bloc

sert
à

décrire
le

com
portem

ent
du

program
m

e
com

plet
ou

d’un
m

or-
ceau

de
program

m
e

(on
peutaussidire

«
bloc

de
code

»).U
n

bloc
peutêtre

soit:

—
U

n
bloc

com
posé,obtenu

par
la

com
position

de
blocs

plus
petits

(voir
les

différents
types

de
blocs

com
posés,pages

24,26,et
28);

—
U

n
e

in
stru

ction
élém

en
taire

:
appel

de
procédure

(voir
pages

6
et

18)
ou

une
affectation

de
variable

(voir
page

12).

☞
R

È
G

L
E

:
U

n
bloc

se
term

in
e

tou
jou

rs
par

u
n

poin
t-virgu

le.
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Exem
ple

d’utilisation
des

acteurs
G

A
da.Text_IO

D
éclaration

des
variables

(
∈
defin

ition
)

w
ith

G
Ada.Text_IO

,
G

Ada.Integer_T
ext_IO

,
G

Ada.F
loat_T

ext_IO
;

procedure
M

ission3
is

package
T

xt
renam

es
G

Ada.Text_IO
;

P
rem

ier_Term
e

:
F

loat
;

R
aison

:
F

loat
;

N
om

bre_Term
es

:
Integer

;
Term

e_C
ourant

:
F

loat
;

begin
IN

T
R

O
D

U
C

T
IO

N

T
xt.P

ut_Line
(A

ff=>
"B
o
n
j
o
u
r,

c
e
progr

amme
a
f
f
i
c
h
e
"

&
"l
e
s
pr
e
m
ie
r
s
t
e
r
m
e
s
d’u

n
e
s
u
i
t
e
geometrique")

;
T

xt.N
ew

_Line
;

L
E

C
T

U
R

E
D

E
LA

V
A

LE
U

R
D

U
1

E
R

T
E

R
M

E

T
xt.P

ut
(A

ff=>
"Q
u
e
l
l
e
e
s
t
l
a
v
a
l
e
u
r
d
u
p
r
e
m
i
e
r
t
e
r
m
e
?
")

;
P

rem
ier_Term

e
:=

G
Ada.F

loat_T
ext_IO

.FG
et

;
L

E
C

T
U

R
E

D
E

LA
V

A
LE

U
R

D
E

LA
R

A
IS

O
N

T
xt.P

ut
(A

ff=>
"Q
u
e
l
l
e
e
s
t
l
a
v
a
l
e
u
r
d
e
l
a
r
a
i
s
o
n
?
")

;
R

aison
:=

G
Ada.F

loat_T
ext_IO

.FG
et

;
L

E
C

T
U

R
E

D
U

N
O

M
B

R
E

D
E

T
E

R
M

E
S

T
xt.P

ut
(A

ff=>
"C
o
m
b
i
e
n
d
e
t
e
r
m
e
s
v
o
u
l
e
z
v
o
u
s
?
")

;
N

om
bre_Term

es
:=

G
Ada.Integer_T

ext_IO
.FG

et
;

A
FFIC

H
A

G
E

D
E

S
T

E
R

M
E

S

O
n

part
du

1er
term

e
Term

e_C
ourant

:=
P

rem
ier_Term

e
;

fo
r

N
o_Term

e
in

1
..

N
om

bre_Term
es

loop
T

xt.P
ut_Line

(A
ff=>

"T
e
r
m
e
n
u
m
e
r
o
"

&
N

o_Term
e’Im

age
&
"="

&
Term

e_C
ourant’Im

age)
;

C
alculdu

term
e

suivant
Term

e_C
ourant

:=
Term

e_C
ourant

*
R

aison
;

end
loop

;

end
M

ission3
;

B
onjour,

ce
program

m
e

affiche
les

prem
iers

term
es

d’une
suite

geom
etrique

Q
uelle

est
la

valeur
du

prem
ier

term
e

?
0.001

Q
uelle

est
la

valeur
de

la
raison

?
10

C
om

bien
de

term
es

voulez-vous
?

3

Term
e

num
ero

1
=

1.00000E
-03

Term
e

num
ero

2
=

1.00000E
-02

Term
e

num
ero

3
=

1.00000E
-01



3

S
ym

bo
le

s

☞
Le

s
sy

m
bo

le
s

su
iv

an
ts

re
pr

és
en

te
nt

di
ff

ér
en

te
s

so
rt

es
de

so
us

-p
ro

gr
am

m
es

:

P
ro

cé
du

re
(s

an
s

ar
gu

m
en

t)

P
ro

cé
du

re
à

2
ar

gu
m

en
ts

A
rg

1
:T

yp
e

A
rg

2
:T

yp
e

Fo
nc

tio
n

à
2

ar
gu

m
en

ts
A

rg
1

:T
yp

e

A
rg

2
:T

yp
e

Ty
pe

de
re

to
ur

☞
L’

éc
ri

tu
re

d’
un

pr
og

ra
m

m
e

co
rr

ec
t

né
ce

ss
it

e
de

co
nn

aî
tr

e
ri

go
ur

eu
se

m
en

t
le

ty
pe

de
s

do
nn

ée
s

m
an

ip
ul

ée
s.

D
an

s
ce

co
ur

s,
on

ut
ili

se
de

s
as

se
rt

io
ns

qu
ip

eu
ve

nt
êt

re
de

pl
us

ie
ur

s
fo

rm
es

:

x
∈

ty
pe

po
ur

in
di

qu
er

le
ty

pe
d’

un
e

ex
pr

es
si

on
x

x
∈
de
fi
n
it
io
n

po
ur

in
di

qu
er

qu
e

x
es

t
un

e
dé

fin
it

io
n.

x
∈
b
lo
c

po
ur

in
di

qu
er

qu
e

x
es

t
un

bl
oc

de
co

de
.

Vo
ic

iq
ue

lq
ue

s
ex

em
pl

es
:

As
se

rt
io

n
In

te
rp

ré
ta

ti
on

12
0

+
99

∈
In

te
ge

r
12

0
+

99
es

t
de

ty
pe

«
In

te
ge

r
»

tr
ue

∈
Bo

ol
ea

n
tr

ue
es

t
de

ty
pe

«
Bo

ol
ea

n
»

fo
o

:I
nt

eg
er

∈
de
fi
n
it
io
n

fo
o

:I
nt

eg
er

es
t

un
e

dé
fin

it
io

n
(d

e
la

va
ri

ab
le

fo
o)

fo
o
∈

In
te

ge
r

La
va

ri
ab

le
fo

o
es

t
de

ty
pe

«
In

te
ge

r
»

fo
o

>
42

∈
Bo

ol
ea

n
fo

o
>

42
es

t
de

ty
pe

«
Bo

ol
ea

n
»

fo
o

:=
42

;∈
b
lo
c

fo
o

:=
42

;
es

t
un

bl
oc

de
co

de

Po
ur

al
lé

ge
r

la
no

ta
ti

on
,o

n
éc

ri
t

fo
o

:=
42

∈
b
lo
c

(s
an

s
po

in
t-

vi
rg

ul
e)

.

U
ne

ex
pr

es
si

on
n’

es
t

pa
s

un
bl

oc
(e

t
in

ve
rs

em
en

t)
:1

20
+

99
/∈
b
lo
c

30

U
n

pr
og

ra
m

m
e

a
pa

rf
oi

s
be

so
in

d’
éc

ri
re

de
s

in
fo

rm
at

io
ns

à
l’é

cr
an

ou
de

de
-

m
an

de
r

de
s

in
fo

rm
at

io
ns

à
l’u

ti
lis

at
eu

r
(p

.
ex

.,
so

n
no

m
ou

sa
da

te
de

na
is

-
sa

nc
e)

.O
n

ut
ili

se
ra

po
ur

ce
la

le
s

ac
te

ur
s

su
iv

an
ts

:
L’

ac
te

ur
G

A
da

.T
ex

t_
IO

PU
T

A
FF

IC
H

E
LE

M
E

S
S

A
G

E
PA

S
S

É
E

N
A

R
G

U
M

E
N

T,
S

A
N

S
PA

S
S

E
R

À
LA

LI
G

N
E

pr
oc

ed
ur

e
P

ut
(A

ff
:

S
tr

in
g

)
;

PU
T
_L

IN
E

A
FF

IC
H

E
LE

M
E

S
S

A
G

E
E

T
PA

S
S

E
À

LA
LI

G
N

E

pr
oc

ed
ur

e
P

ut
_L

in
e

(A
ff

:
S

tr
in

g
)

;

N
E

W
_L

IN
E

PA
S

S
E

À
LA

LI
G

N
E

pr
oc

ed
ur

e
N

ew
_L

in
e

;

FG
E

T
LI

T
U

N
E

C
H

A
ÎN

E
D

E
C

A
R

A
C

T
È

R
E

A
U

C
LA

V
IE

R

fu
nc

tio
n

FG
et

re
tu

rn
S

tr
in

g
;

L’
ac

te
ur

G
A

da
.In

te
ge

r_
Te

xt
_I

O

FG
E

T
LI

T
U

N
E

N
T

IE
R

A
U

C
LA

V
IE

R

fu
nc

tio
n

FG
et

re
tu

rn
In

te
ge

r
;

L’
ac

te
ur

G
A

da
.F

lo
at

_T
ex

t_
IO

FG
E

T
LI

T
U

N
R

É
E

L
A

U
C

LA
V

IE
R

fu
nc

tio
n

FG
et

re
tu

rn
F

lo
at

;

Le
s

ac
te

ur
s

G
A

da
.T

ex
t_

IO

O
pé

ra
te

ur
et

fo
nc

ti
on

s
su

r
le

s
ch

aî
ne

s

—
L’

op
ér

at
eu

r
&

pe
rm

et
de

co
lle

r
en

se
m

bl
e

de
ux

ch
aî

ne
s

(c
on

ca
té

na
ti

on
)

—
La

fo
nc

ti
on

In
te

ge
r’I

m
ag

e
(X

)
ou

ju
st

e
X

’Im
ag

e
tr

an
sf

or
m

e
un

en
ti

er
X

en
ch

aî
ne

.

—
La

fo
nc

ti
on

Fl
oa

t’I
m

ag
e

(Y
)

ou
ju

st
e

Y
’Im

ag
e

tr
an

sf
or

m
e

un
ré

el
Y

en
ch

aî
ne

.

Vo
ic

iu
n

ex
em

pl
e

ty
pi

qu
e

d’
ut

ili
sa

ti
on

(X
ét

an
t

un
e

va
ri

ab
le

en
ti

èr
e)

:
G

A
da

.T
ex

t_
IO

.P
ut

(A
ff

=>
"L

a
va

ria
bl

e
X

va
ut

"
&

In
te

ge
r’I

m
ag

e(
X

))

G
A

da
.T

ex
t_

IO
.P

ut
(A

ff
=>

"L
a

va
ria

bl
e

X
va

ut
"

&
X

’Im
ag

e
)

(é
qu

iv
al

en
t)

R
È

G
LE

«
O

pé
ra

te
ur

s
et

fo
nc

ti
on

s
su

r
le

s
ch

aî
ne

s
»

e
∈

St
ri

ng
et

e′
∈

St
ri

ng
⇒

e
&
e′

∈
St

ri
ng

e
∈

In
te

ge
r

⇒
In

te
ge

r’I
m

ag
e

(e
)

∈
St

ri
ng

,
e’

Im
ag

e
∈

St
ri

ng

e
∈

Fl
oa

t
⇒

Fl
oa

t’I
m

ag
e

(e
)

∈
St

ri
ng

,
e’

Im
ag

e
∈

St
ri

ng
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Ilexiste
deux

m
odèles

de
structures

différents,selon
que

l’on
veut

produire
un

program
m

e
exécu

table
(à

gauche)
ou

un
acteu

r
(à

droite).

E
X

É
C

U
TA

B
LE

“m
ission-exe”

U
n

seulfichier
:

m
ission.adb

Fichier
m

ission.adb

D
éclaration

du
ou

des
acteurs

utilisés
w

ith
Foo

;

procedure
M

ission
is

R
enom

m
age

éventueldes
acteurs

package
F

renam
es

Foo
;

···D
éfinitions

D
i

;
···

begin
C

orps
du

program
m

e
principal

B
;

end
M

ission
;

Le
corps

du
program

m
e

principal,B
,

doit
être

un
bloc,c.-à-d.

B
∈
b
loc

La
partie

avan
t

le
begin

est
réservée

aux
définitions

:
D

i ∈
defin

ition

A
C

T
E

U
R

“Foo”

D
eux

fichiers
:

foo.ads
et

foo.adb

Fichier
foo.ads

(la
spécification)

D
éclaration

des
acteurs

utilisés
w

ith
A

cteur1 ,
A

cteur2
;

package
Foo

is

R
enom

m
age

éventueldes
acteurs

package
B

ar
renam

es
A

cteuri
;

···D
éclaration

s
de

sous-program
m

es
···

end
Foo

;

⋆
La

déclaration
d’un

sous-program
m

e
ne

com
prend

pas
le

corps
du

sous-
program

m
e.

⋆
Pas

de
corps

de
program

m
e

(pas
de

begin),
car

un
acteur

n’est
pas

exécu-
tableFichier

foo.adb
(l’im

plém
entation)

w
ith

A
cteur1 ,

A
cteur2

;

package
body

Foo
is

D
éfi

n
ition

s
des

sous-program
m

es
···

end
Foo

;

S
tructure

d’un
program

m
e

A
da

29

Exem
ple

de
bloc

W
H

ILE

Tan
t

qu
e

le
niveau

m
esuré

est
inférieur

à
C

apacite,

O
n

m
et

à
jour

la
m

esure
du

niveau
(le

rem
plissage

continue
puisque

la
vanne

est
ouverte).

1
N

iveau
est

une
variable

réelle
déclarée

avant
le

begin
2

et
M

esurer_N
iveau_C

uve
une

fonction
sans

argum
ent

5
M

esure
initiale

6
N

iveau
:=

M
esurer_N

iveau_C
uve

;

8
O

uvrir_E
lectrovanne

;

10
w

hile
N

iveau
<

C
apacite

loop
11

N
iveau

:=
M

esurer_N
iveau_C

uve
;

12
end

loop
;

14
Ferm

er_E
lectrovanne

;
∈
b
loc

Le
bloc

w
hile

se
term

ine
lorsque

le
niveau

m
esuré

est
supérieur

ou
égalà

C
apacite

La
vanne

est
ensuite

ferm
ée

(ligne
14)

et
le

rem
plissage

s’arrête.

☞
La

m
ise

à
jour

de
la

variable
N

iveau
dans

le
bloc

w
hile

(ligne
11)

perm
et,au

final,
de

m
odifier

la
valeur

de
la

condition
N

iveau
<

C
apacite,et

de
sortir

du
bloc.

☞
C

ette
m

ise
à

jour,ligne
11,est

cruciale
pour

ne
pas

boucler
indéfinim

ent
(et

ne
pas

faire
déborder

la
cuve).
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Ex
em

pl
e

:l
e

fic
hi

er
m

is
si

on
1.

ad
b

1
w

ith
M

ar
sR

ov
er

;

3
pr

oc
ed

ur
e

M
is

si
on

1
is

5
pa

ck
ag

e
M

R
re

na
m

es
M

ar
sR

ov
er

;

7
be

gi
n

8
In

vo
ca

ti
on

de
l’a

ct
io

n
’A

va
nc

er
’

9
M

R
.A

va
nc

er
;

11
M

R
.T

ou
rn

er
_D

ro
ite

;
12

en
d

M
is

si
on

1
;

☞
Se

co
m

pi
le

en
l’e

xé
cu

ta
bl

e
“m

is
si

on
1-

ex
e”

—
Le

co
rp

s
de

m
is

si
on

1.
ad

b,
lig

ne
s

8
à

11
,

es
t

un
bl

oc
sé

qu
en

ce
(d

eu
x

ap
pe

ls
de

pr
oc

éd
ur

e)
.

—
L’

in
de

n
ta

ti
on

es
t

le
dé

ca
la

ge
à

dr
oi

te
de

ce
rt

ai
ne

s
lig

ne
s

du
pr

og
ra

m
m

e
(p

.
ex

.,
lig

ne
s

5,
8,

9,
et

11
de

m
is

si
on

1.
ad

b)
.

El
le

re
nd

le
co

de
pl

us
lis

ib
le

en
m

et
-

ta
nt

en
év

id
en

ce
le

s
di

ff
ér

en
te

s
pa

r-
ti

es
(a

va
nt

le
be

gi
n,

ap
rè

s
le

be
gi

n,
le

s
bl

oc
s)

.

N
ot

es
pe

rs
on

ne
lle

s

28

A
lo

rs
qu

e
le

bl
oc

fo
r

pa
rc

ou
rt

un
in

te
rv

al
le

d’
en

ti
er

s,
le

bl
oc

W
H

IL
E

ré
pè

te
un

bl
oc

B
ta

n
t

qu
’u

n
e

co
n

di
ti

on
es

t
vé

ri
fi

ée
(c

.-à
-d

.,
ju

sq
u’

à
ce

qu
e

la
co

nd
it

io
n

ne
so

it
pl

us
vé

ri
fié

e)
.

D
éfi

ni
ti

on
du

bl
oc

W
H

IL
E

Sy
nt

ax
e

:
w

hi
le

co
nd

iti
on

lo
op

B
;

en
d

lo
op

;

av
ec

co
n
d
it
io
n
∈

Bo
ol

ea
n

(v
oi

r
pa

ge
16

)

et
B
∈
b
lo
c

Ex
éc

ut
io

n
du

bl
oc

W
H

IL
E

:
1

–
La

co
nd

it
io

n
es

t
év

al
ué

e
à

vr
ai

,o
u

fa
ux

(T
ru

e,
ou

Fa
ls

e)
;

2a
–

Si
c’

es
t

vr
ai

,l
e

bl
oc

B
es

t
ex

éc
ut

é,
pu

is
le

bl
oc

w
hi

le
es

t
ex

éc
ut

é
de

no
uv

ea
u

(r
et

ou
r

à
l’é

ta
pe

1)
.

2b
–

Si
c’

es
t

fa
ux

,l
e

bl
oc

w
hi

le
es

t
te

rm
in

é.

In
va

ri
an

t
:

Le
bl

oc
w

hi
le

ne
te

rm
in

e
qu

e
si

la
co

nd
it

io
n

es
t

fa
us

se
.

C
or

ol
la

ir
e

:
L’

ex
éc

ut
io

n
du

bl
oc

B
do

it
m

od
ifi

er
la

va
le

ur
de

la
co

nd
it

io
n⋆

.
⋆
Si

no
n

le
bl

oc
w

hi
le

se
ré

pè
te

sa
ns

ar
rê

t
et

ne
te

rm
in

e
ja

m
ai

s.

B
lo

c
W

H
IL

E

Vo
ca

bu
la

ir
e

:c
ha

qu
e

ré
pé

ti
ti

on
du

bl
oc

w
hi

le
s’

ap
pe

lle
un

e
it

ér
at

io
n.

R
È

G
LE

«
Bl

oc
W

H
IL

E
»

U
n

bl
oc

W
H

IL
E

es
t

un
bl

oc
:

e
∈

Bo
ol

ea
n

et
B
∈
b
lo
c,

⇒
w

hi
le

e
lo

op
B

;
en

d
lo

op
;

∈
b
lo
c
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U
ne

PR
O

C
ÉD

U
R

E
(appelée

aussi“action”)
estun

bloc
auquelon

donne
un

nom
.

Pour
IN

V
O

Q
U

ER
(c.-à-d.exécuter)

la
procédure

B
ar,on

écrit

—
M

oo.B
ar;

sila
procédure

B
arest

définie
dans

l’acteur
M

oo.

—
Juste

B
ar;

sila
procédure

B
arestdéfinie

dans
le

program
m

e
m

ission.adb.

Pour
D

ÉFIN
IR

une
procédure

dans
le

program
m

e
m

ission.adb
:

D
éfinition

de
procédure

sans
argum

ent

procedure
B

ar
is

D
éfinitions

éventuelles
begin

C
orps

de
la

procédure
B

end
B

ar
;

À
placer

avant
le

begin
du

program
m

e.

∈
defin

ition

O
n

doit
avoirB

∈
b
loc

P
rocédures

sans
argum

ent

R
È

G
LE

«
Invocation

»

U
ne

invocation
de

procédure
est

un
bloc

:

M
oo.B

ar
∈
b
loc

B
ar

∈
b
loc

27

Exem
ple

de
bloc

FO
R

Ferm
e

les
12

électrovannes
num

érotées
de

1
à

12.
N

b_E
lectrovannes

:
constant

Integer
:=

12
;

(∈
defin

ition)
begin

fo
r

N
um

ero_E
lectrovanne

in
1

..N
b_E

lectrovannes
loop

Ferm
er_E

lectrovanne
(N

um
=>

N
um

ero_E
lectrovanne)

;
end

loop
;

∈
b
loc Équivalentau

bloc
séquence

:
Ferm

er_E
lectrovanne(N

um
=>

1);
Ferm

er_E
lectrovanne(N

um
=>

2);
...

Ferm
er_E

lectrovanne(N
um

=>
12);

1
2

3
4

5
6

7
8

9
1
0

1
1

1
2

Le
bloc

FO
R

est
aussiutile

pour
répéter

une
action

un
certain

nom
bre

de
fois.Par

exem
ple

:

C
E

B
LO

C
FO

R
É

M
E

T
5

8
F

O
IS

LE
M

Ê
M

E
M

E
S

S
A

G
E.

N
b_R

epetitions
:

constant
Integer

:=
58

;
(∈

defin
ition)

begin
fo

r
N

um
ero

in
1

..N
b_R

epetitions
loop

E
m

ettre_M
essage

(M
sg

=>
"W
h
a
t
h
a
t
h
G
o
d
w
r
o
u
g
h
t?")

;
end

loop
;

N
oter

que
N

um
ero

n’est
pas

utilisé
dans

le
corps

du
bloc

for.

Le
bloc

B
(x
)

est
quelconque,en

particulier
cela

peut
être

un
bloc

for
im

briqué
:

Exem
ple

de
blocs

FO
R

im
briqués

Le
fichier

m
ission2.adb

:

w
ith

G
Ada.Text_IO

;

procedure
M

ission2
is

package
T

xt
renam

es
G

Ada.Text_IO
;

F
in

:
constant

Integer
:=

6
;

beginfo
r

N
_Ligne

in
1

..F
in

loop
fo

r
N

_C
olonne

in
1

..N
_Ligne

loop
T

xt.P
ut(A

ff=>
N

_Ligne
’Im

age)
;

T
xt.P

ut(A
ff=>

N
_C

olonne’Im
age)

;
T

xt.P
ut(A

ff=>
"

"
)

;
end

loop
;

T
xt.N

ew
_Line

;
end

loop
;

end
M

ission2
;

L’exécution
de

m
ission2-exe

affiche
cecià

l’écran
:

1
1

2
1

2
2

3
1

3
2

3
3

4
1

4
2

4
3

4
4

5
1

5
2

5
3

5
4

5
5

6
1

6
2

6
3

6
4

6
5

6
6
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Ex
em

pl
e

:l
e

fic
hi

er
m

is
si

on
2.

ad
b

D
éfi

n
it

io
n

de
la

pr
oc

éd
ur

e
A

ffi
ch

er
_B

ie
nv

en
ue

∈
de
fi
n
it
io
n

A
ffi

ch
er

_B
ie

nv
en

ue

In
vo

ca
ti

on
s

de
la

pr
oc

éd
ur

e ∈
b
lo
c

1
w

ith
G

Ad
a.

Te
xt

_I
O

;

3
pr

oc
ed

ur
e

M
is

si
on

2
is

5
pa

ck
ag

e
T

xt
re

na
m

es
G

Ad
a.

Te
xt

_I
O

;

7
pr

oc
ed

ur
e

A
ffi

ch
er

_B
ie

nv
en

ue
is

8
be

gi
n

9
T

xt
.P

ut
_L

in
e

(A
ff

=>
"B
o
n
j
o
u
r,

"
)

;
10

T
xt

.P
ut

(A
ff

=>
"e
t
bi
en
ve
nu
e
a
l’
I
N
S
A
d
e
"

)
;

11
en

d
A

ffi
ch

er
_B

ie
nv

en
ue

;

13
be

gi
n

14
A

ffi
ch

er
_B

ie
nv

en
ue

;
15

T
xt

.P
ut

_L
in

e
(A

ff
=>

"T
o
u
lo
u
se
"

)
;

17
A

ffi
ch

er
_B

ie
nv

en
ue

;
18

T
xt

.P
ut

_L
in

e
(A

ff
=>

"R
e
n
n
e
s"

)
;

20
A

ffi
ch

er
_B

ie
nv

en
ue

;
21

T
xt

.P
ut

_L
in

e
(A

ff
=>

"L
y
o
n"

)
;

22
en

d
M

is
si

on
2

;

☞
C

e
pr

og
ra

m
m

e
af

fic
he

tr
oi

s
fo

is
“B

on
jo

ur
,e

t
bi

en
ve

nu
e

...
”

☞
Il

co
nt

ie
nt

tr
oi

s
in

vo
ca

ti
on

s
de

la
pr

oc
éd

ur
e

A
ffi

ch
er

_B
ie

nv
en

ue
(l

ig
ne

s
14

,1
7,

et
20

)
et

ci
nq

in
vo

ca
ti

on
s

d’
ac

ti
on

s
co

nt
en

ue
s

da
ns

l’a
ct

eu
r

G
A

da
.T

ex
t_

IO
(l

ig
ne

s
9,

10
,1

5,
18

,e
t

21
).

☞
La

pr
oc

éd
ur

e
A

ffi
ch

er
_B

ie
nv

en
ue

es
t

dé
fi

n
ie

en
tr

e
le

s
lig

ne
s

7
et

11
.

Le
s

pr
o-

cé
du

re
s

P
ut

et
P

ut
_L

in
e

so
nt

dé
fin

ie
s

da
ns

l’a
ct

eu
r

G
A

da
.T

ex
t_

IO
.

N
ot

es
pe

rs
on

ne
lle

s

26

Pr
en

on
s

le
s

tr
oi

s
in

gr
éd

ie
nt

s
d’

un
bl

oc
FO

R
:

—
x

es
t

un
id

en
ti

fic
at

eu
r,

p.
ex

.
N

um
er

o_
d_

E
le

ct
ro

va
nn

e

—
B
(x
)

es
t

un
bl

oc
,p

ar
ex

em
pl

e
B
(x
)
=

Fe
rm

er
_E

le
ct

ro
va

nn
e

(x
);

—
a

..
b

es
t

un
in

te
rv

al
le

de
Z

:p
.e

x.
1

..
12

Le
bl

oc
FO

R
ex

éc
u

te
B
(x
)

po
u

r
ch

aq
u

e
x

de
l’i

n
te

rv
al

le
[a
..
b]

.

D
éfi

ni
ti

on
du

bl
oc

FO
R

Sy
nt

ax
e

:
fo

r
x

in
a

..
b

lo
op

B
(x
)
;

en
d

lo
op

;

☞
x

es
t

un
id

en
ti

fic
at

eu
r

qu
el

co
nq

ue
☞

a
∈

In
te

ge
r

et
b
∈

In
te

ge
r

☞
B
(x
)
∈
b
lo
c

Le
bl

oc
FO

R
es

t
éq

ui
va

le
nt

à
la

sé
qu

en
ce

B
(a
)
;B

(a
+
1)

;.
..

;B
(b
)
;

B
lo

c
FO

R

R
È

G
LE

«
Bl

oc
FO

R
»

U
n

bl
oc

FO
R

es
t

un
bl

oc
:

a
∈

In
te

ge
r,

b
∈

In
te

ge
r

et
B
(x
)
∈
b
lo
c,

⇒
fo

r
x

in
a

..
b

lo
op

B
(x
)
;

en
d

lo
op

;
∈
b
lo
c
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Si
B

1 ,
B

2 ,..,
B

n
sontdes

blocs
de

code,leur
juxtaposition

constitue
un

nouveau
bloc

appelé
B

LO
C

S
É

Q
U

E
N

C
E.L’exécution

du
bloc

séquence
consiste

à
exécuter

chaque
bloc

B
1 ,
B

2 ,..,
B

n ,l’un
après

l’autre
:

Bloc
séquence

La
séquence

des
blocs

B
1 ,..,

B
n

s’écrit

B
1 ;

B
2 ;...

B
n ;

☞
Le

bloc
B
1

est
exécuté

en
prem

ier.
☞

Le
bloc

B
2

ne
sera

exé-
cuté

que
lorsque

le
bloc

B
1

sera
term

in
é.

☞
Le

bloc
séquence

est
ter-

m
iné

lorsque
le

dernier
bloc,

B
n ,est

term
iné.

Le
corps

du
program

m
e

ci-dessous
est

un
bloc

séquence.

Exem
ple

:séquence
d’actions

∈
b
loc

w
ith

M
oteur_H

ybride
;

procedure
M

ission1
is

package
M

H
renam

es
M

oteur_H
ybride

;

beginM
H

.D
em

arrage_E
lectrique

;
M

H
.D

em
arrage_Therm

ique
;

M
H

.Laisser_T
ourner

;
M

H
.A

rreter
;

end
M

ission1
;

B
loc

S
équence

R
È

G
LE

«
Séquence

»

Si
pour

tout
1
⩽

i
⩽

n,B
i

est
un

b
loc,

alors
leur

juxtaposition
est

un
bloc

:

∀
i∈

[1;n
]
B
i ∈

b
loc

⇒
B
1

;
...B
n

;
∈
b
loc

La
séquence

vide
s’écrit

nullet
est

un
bloc

:
null

∈
b
loc.

25

Exem
ple

de
bloc

IF

N
oter

qu’il
n’est

pas
possible

d’écrire
la

condition
90

<
Poids

<=
100

.
À

la
place,

on
écrit

:
if

(90
<

P
oids)

and
(P

oids
<=

100)
then

T
xt.P

ut(A
ff

=>
"
C
a
t
e
g
o
r
i
e
M
i
L
o
u
r
d
")

;
elseT

xt.P
ut(A

ff
=>

"
A
u
t
r
e
c
a
t
e
g
o
r
i
e
")

;
end

if
;

∈
b
loc

D
ans

un
bloc

if,
le

bloc
B

et
le

bloc
B
′sont

des
blocs

quelconques.
En

particulier,
B
′peut

être
un

bloc
if,

ce
qui

perm
et

d’enchaîner
les

tests
:

C
ette

procédure
affiche

à
l’écran

la
catégorie

(au
judo)

selon
le

poids.
procedure

C
ategorie_H

om
m

es
(P

oids
:

Integer)
is

beginif
P

oids
<

60
then

T
xt.P

ut_Line
(A

ff
=>

"
S
u
p
e
r
l
e
g
e
r
")

;
e

ls
if

P
oids

<=
66

then
T

xt.P
ut_Line

(A
ff

=>
"
M
i
l
e
g
e
r
")

;
e

ls
if

P
oids

<=
73

then
T

xt.P
ut_Line

(A
ff

=>
"
L
e
g
e
r
")

;
e

ls
if

P
oids

<=
81

then
T

xt.P
ut_Line

(A
ff

=>
"
M
i
m
o
y
e
n
")

;
e

ls
if

P
oids

<=
90

then
T

xt.P
ut_Line

(A
ff

=>
"
M
o
y
e
n
")

;
e

ls
if

P
oids

<=
100

then
T

xt.P
ut_Line

(A
ff

=>
"
M
i
l
o
u
r
d
")

;
elseT

xt.P
ut_Line

(A
ff

=>
"
L
o
u
r
d
")

;
end

if
;

end
C

ategorie_H
om

m
es

;
∈
defin

ition
N

oter
que

l’on
écrit

elsif
au

lieu
de

else
if

(C
ette

écriture
elsif

perm
et

aussi
de

n’écrire
qu’un

seul
end

if
à

la
fin

du
bloc,

au
lieu

de
six).

Poids
C

atégorie

<
60kg

Super
léger

60kg
–

66kg
M

i-léger
66kg

–
73kg

Léger
73kg

–
81kg

M
i-m

oyen
81kg

–
90kg

M
oyen

90kg
–

100kg
M

i-lourd
>

100kg
Lourd

C
ategorie_H

om
m

es
Poids

:Integer
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U
n

pr
og

ra
m

m
e

a
vo

ca
ti

on
à

m
an

ip
ul

er
de

s
do

nn
ée

s
(o

n
pe

ut
au

ss
i

di
re

de
s

«
va

le
ur

s
»)

,
p.

ex
.,

po
ur

ef
fe

ct
ue

r
de

s
ca

lc
ul

s
nu

m
ér

iq
ue

s.
A

fin
de

m
an

ip
ul

er
co

rr
ec

te
m

en
t

ch
aq

ue
va

le
ur

,l
’o

rd
in

at
eu

r
do

it
sa

vo
ir

à
qu

el
le

ca
té

go
ri

e
ou

ty
pe

el
le

ap
pa

rt
ie

nt
.P

ar
dé

fa
ut

,A
da

pr
op

os
e

le
s

ty
pe

s
de

ba
se

su
iv

an
ts

:

N
om

du
ty

pe
S

ig
ni

fic
at

io
n

Va
le

ur
s

P
la

ce
m

ém
oi

re

IN
TE

G
E

R
en

ti
er

s
de

−
2_
14
7_
48
3_
64
8

à
+
2_
14
7_
48
3_
64
7

4
oc

te
ts

(3
2

bi
ts

)⋆

N
A

TU
R

A
L

en
ti

er
s

na
tu

re
ls

de
0

à
+
2_
14

7
_4
83

_6
47

id
em

P
O

S
IT

IV
E

en
ti

er
s

po
si

ti
fs

de
1

à
+
2_
14

7
_4
83

_6
47

id
em

FL
O

A
T

no
m

br
es

ré
el

s
de

−
3.
4E

+
38

à
3.
4E

+
38

4
oc

te
ts

(3
2

bi
ts

)�

B
O

O
LE

A
N

bo
ol

ée
ns

Tr
ue

(v
ra

i)
,F

al
se

(f
au

x)
1

oc
te

t

C
H

A
R

A
C

TE
R

ca
ra

ct
èr

es
’0

’,
’9

’,
’A

’,
’Z

’,
’a

’,
’z

’,
’=

’,
..

.
1

oc
te

t

S
TR

IN
G

ch
aî

ne
s

de
ca

ra
ct

èr
es

"
D
u

t
e
x
t
e
.
"

n
oc

te
ts

(p
ou

r
un

e
ch

aî
ne

de
n

ca
ra

ct
èr

es
)

Le
s

ty
pe

s
de

ba
se

⋆
Su

r
le

s
m

ac
hi

ne
s

64
bi

ts
,u

n
en

ti
er

oc
cu

pe
8

oc
te

ts
et

va
ju

sq
u’

à
9
.1
01

8

� U
n

ré
el

pe
ut

au
ss

io
cc

up
er

64
bi

ts
(y

co
m

pr
is

su
r

de
s

m
ac

hi
ne

s
32

bi
ts

)
et

al
le

r
ju

sq
u’

à
10

3
0
8
.

R
È

G
LE

S
«

Ty
pe

s
de

ba
se

»

-2
00

0
∈

In
te

ge
r

42
∈

In
te

ge
r

42
∈

N
at

ur
al

42
∈

Po
si

ti
ve

42
.0

∈
Fl

oa
t

Tr
ue

∈
Bo

ol
ea

n
Fa

ls
e

∈
Bo

ol
ea

n
’A

’
∈

Ch
ar

ac
te

r
’8

’
∈

Ch
ar

ac
te

r
"M

oo
"
∈

St
ri

ng
"4

2"
∈

St
ri

ng

24

Le
bl

oc
IF

pe
rm

et
d’

ex
éc

ut
er

ou
bi

en
un

bl
oc

de
co

de
B

,
ou

bi
en

un
bl

oc
de

co
de

al
te

rn
at

if
B
′ ,

se
lo

n
qu

’u
ne

co
nd

it
io

n
do

nn
ée

es
t

vr
ai

e
ou

fa
us

se
.

D
éfi

ni
ti

on
du

bl
oc

IF

Sy
nt

ax
e

:
if

co
nd

iti
on

th
en

B
;

el
se B

′ ;
en

d
if

;

av
ec

co
nd

it
io

n
∈

Bo
ol

ea
n

(«
co

nd
iti

on
»

es
t

un
e

ex
pr

es
si

on
bo

ol
ée

nn
e,

vo
ir

pa
ge

16
)

B
∈
b
lo
c

et
B
′
∈
b
lo
c

Ex
éc

ut
io

n
du

bl
oc

IF
:

1
–

La
co

nd
it

io
n

es
t

év
al

ué
e

à
vr

ai
ou

fa
ux

(T
ru

e
ou

Fa
ls

e)
;

2a
–

Si
c’

es
t

vr
ai

,l
e

bl
oc

B
es

t
ex

éc
ut

é
(m

ai
s

pa
s
B
′ )

2b
–

Si
c’

es
t

fa
ux

,l
e

bl
oc

B
′
es

t
ex

éc
ut

é
(m

ai
s

pa
s
B

)
3

–
Le

bl
oc

IF
es

tt
er

m
in

é
lo

rs
qu

e
le

bl
oc

ex
éc

ut
é

(B
ou

B
′ )

es
tt

er
m

in
é.

Lo
rs

qu
e

le
bl

oc
B
′
es

t
vi

de
,o

n
pe

ut
éc

ri
re

:
if

co
nd

iti
on

th
en

B
en

d
if

;

B
lo

c
IF

R
È

G
LE

«
Bl

oc
IF

»

U
n

bl
oc

IF
es

t
un

bl
oc

:

e
∈

Bo
ol

ea
n,

B
∈
b
lo
c

et
B
′
∈
b
lo
c,

⇒

if
e

th
en

B
;

el
se B

′ ;
en

d
if

;

∈
b
lo
c
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O
n

s’interdira
d’utiliser

des
valeurs

num
ériques

dans
le

corps
du

program
m

e
(p.ex.,

3.141593);on
utilisera

à
la

place
des

con
stan

tes.

D
éfinition

d’une
constante

Foo
:constantson_type

:=
sa_valeur;∈

defin
ition

À
placer

avant
le

begin
du

program
m

e.

Les
constantes

R
È

G
LE

«
Constante

»

e
∈

un_type
⇒

B
ar:constantun_type

:=
e

∈
defin

ition

A
près

la
définition

de
la

constante
B

ar,
l’assertion

B
ar∈

un_type
est

valide.

23

Exem
ple

de
type

article

D
éfinition

du
type

T_M
esures

(O
n

ne
s’en

sert
pas

dans
le

corps
du

pro-
gram

m
e)

procedure
M

ission
is

type
T_M

esures
is

record
Larg

:
F

loat
;

Long
:

F
loat

;
M

asse
:

Integer
;

end
record

;

D
ensite

M
es

:T_M
esures

Float

F
O

N
C

T
IO

N
C

A
LC

U
LA

N
T

LA
D

E
N

S
IT

É
S

U
R

FA
C

IQ
U

E
∈
defin

ition

function
D

ensite
(M

es
:

T_M
esures)

return
F

loat
is

beginreturn
F

loat
(M

es.M
asse)

/
(M

es.Larg
*

M
es.Long)

;
end

D
ensite

;

D
É

FIN
IT

IO
N

D
’U

N
E

V
A

R
IA

B
LE

D
E

T
Y

P
E

T_M
esures

∈
defin

ition

M
esures_P

laque
:

T_M
esures

;
begin

M
O

D
IFIC

AT
IO

N
D

E
S

AT
T

R
IB

U
T

S,
U

N
PA

R
U

N

M
esures_P

laque
.Larg

:=
12.0

;
M

esures_P
laque

.Long
:=

14.0
;

M
esures_P

laque
.M

asse
:=

6000
;

M
O

D
IFIC

AT
IO

N
D

E
T

O
U

S
LE

S
AT

T
R

IB
U

T
S

M
esures_P

laque
:=

(12.0
,

14.0
,

6000)
;

M
O

D
IFIC

AT
IO

N
D

E
T

O
U

S
LE

S
AT

T
R

IB
U

T
S

M
esures_P

laque
:=

(Larg
=>

12.0
,

Long
=>

14.0
,

M
asse

=>
6000)

;

end
M

ission
;

∈
defin

ition

C
es

trois
m

anières
de

m
odifier

les
attributs

sont
équivalentes. .Larg

=
12.0

.Lon
g

=
14.0

.M
asse

=
6000

M
esures_Plaque
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Ex
em

pl
es

de
dé

fin
it

io
ns

de
co

ns
ta

nt
es

C
es

dé
fin

it
io

ns
de

co
ns

ta
nt

es
so

nt
pl

ac
ée

s
av

an
t

le
be

gi
n

du
pr

og
ra

m
m

e

P
i

:
co

ns
ta

nt
F

lo
at

:=
3.

14
15

92
7

;

Vi
te

ss
e

en
m

.s
−
2

V
_L

um
ie

re
:

co
ns

ta
nt

F
lo

at
:=

3.
0E

8
;

Vi
te

ss
e

en
to

ur
s

pa
r

m
in

ut
e

V
_R

ot
at

io
n_

M
ax

:
co

ns
ta

nt
F

lo
at

:=
82

00
.0

;

N
om

br
e_

E
le

ve
s

:
co

ns
ta

nt
In

te
ge

r
:=

46
2

;
A

nn
ee

_A
cc

es
si

on
_A

kh
en

at
on

:
co

ns
ta

nt
In

te
ge

r
:=

1_
34

8
;

N
om

_A
pp

ar
ei

l
:

co
ns

ta
nt

S
tr

in
g

:=
"A
i
r
b
u
s
A
3
8
0"

;

E
st

_E
n_

M
od

e_
S

im
ul

at
io

n
:

co
ns

ta
nt

B
oo

le
an

:=
F

al
se

;

R
È

G
LE

:u
n

no
m

br
e

ré
el

(F
lo

at
)

co
nt

ie
nt

to
u

jo
u

rs
un

po
in

t
dé

ci
m

al
.

En
ap

pl
ic

at
io

n
de

la
rè

gl
e

«
C

on
st

an
te

»,
on

ob
ti

en
t

:

P
i

∈
Fl

oa
t

V
_L

um
ie

re
∈

Fl
oa

t
V

_R
ot

at
io

n_
M

ax
∈

Fl
oa

t
N

om
br

e_
E

le
ve

s
∈

In
te

ge
r

N
om

_A
pp

ar
ei

l
∈

St
ri

ng

22

U
n

ty
pe

ar
ti

cl
e

es
t

l’a
gr

ég
at

io
n

de
pl

us
ie

ur
s

ty
pe

s
en

un
se

ul
ty

pe
.

D
éfi

ni
ti

on
d’

un
ty

pe
ar

ti
cl

e

ty
pe

T_
Fo

o
is

re
co

rd
B

ar
:

un
_t

yp
e 1

;
. . . M
oo

:
un

_t
yp

e n
;

en
d

re
co

rd
;
∈
de
fi
n
it
io
n

Ac
cè

s
au

x
at

tr
ib

ut
s

Si
Zo

o
es

t
un

e
va

ri
ab

le
de

ty
pe

T_
Fo

o,
l’e

xp
re

s-
si

on
Zo

o.
B

ar
re

nv
oi

e
la

va
le

ur
de

l’a
tt

ri
bu

t
B

ar
.

Po
ur

m
od

ifi
er

la
va

le
ur

de
l’a

tt
ri

bu
t,

ut
ili

se
r

Zo
o.

B
ar

:=
va

le
ur

;

Ty
pe

s
A

R
T

IC
L

E

.B
ar

⇒
...

.M
oo

⇒
...

∈
T

_F
oo

R
È

G
LE

«
Ac

cè
s

au
x

at
tr

ib
ut

s
»

O
n

su
pp

os
e

qu
e

le
ty

pe
ar

ti
cl

e
T_

Fo
o

co
nt

ie
nt

un
at

tr
ib

ut
B

ar
de

ty
pe

un
_t

yp
e 1

(c
om

m
e

da
ns

la
dé

fin
it

io
n

ci
-d

es
su

s)
.

e
∈

T_
Fo

o
⇒

e
.B

ar
∈

un
_t

yp
e 1

e
∈

T_
Fo

o
et

e′
∈

un
_t

yp
e 1

⇒
e

.B
ar

:=
e′

∈
b
lo
c

D
e

m
êm

e
po

ur
le

s
au

tr
es

at
tr

ib
ut

s
(M

oo
,

et
c.

)

R
È

G
LE

«
Co

ns
tr

uc
ti

on
d’

un
ar

ti
cl

e
»

O
n

su
pp

os
e

qu
e

le
ty

pe
T_

Fo
o

es
t

dé
fin

i
co

m
m

e
ci

-d
es

su
s.

e 1
∈

un
_t

yp
e 1

..
.

e n
∈

un
_t

yp
e n

⇒
(e

1
,.

..
,e

n
)

∈
T_

Fo
o

⇒
(B

ar
=>

e 1
,.

..
,M

oo
=>

e n
)

∈
T_

Fo
o

⇒
(M

oo
=>

e n
,.

..
,B

ar
=>

e 1
)

∈
T_

Fo
o
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U
ne

variable
est

sem
blable

à
une

constante
que

l’on
pourrait

m
odifier

pen-
dant

l’exécution
du

program
m

e.

Variable
de

type
Integer

·
Pour

D
ÉFIN

IR
une

variable
Foo

de
type

Integer,
il

suffit
de

placer
Foo

:Integer
;

(defin
ition)

avant
le

begin
du

sous-program
m

e.

·
U

ne
A

FFEC
TAT

IO
N

perm
et

de
m

odifier
la

valeur
de

la
variable

:
Foo

:=
expression

num
érique

;
(b
loc)

p.
ex.

Foo
:=

60
*

24
;

·
Pour

U
T

ILISER
la

valeur
de

la
variable

(dans
une

expression
num

érique),
il

suf-
fit

d’écrire
son

nom
,

par
exem

ple
12

+
Foo

*
64

(Integer).

R
È

G
LE

«
Variable

»

Il
existe

deux
m

anières
de

définir
une

variable
(on

suppose
e
∈

Integer)
:

Foo
:Integer

∈
defin

ition
(sim

ple
déclaration)

Foo
:Integer

:=
e

∈
defin

ition
(déclaration

+
affectation)

A
près

la
définition

de
la

variable
Foo,

Foo
∈

Integer
est

valide.

R
È

G
LE

«
Affectation

»

Foo
∈

Integer
⇒

Foo
:=

e
∈
b
loc

et
e
∈

Integer
(c.-à-d.,

une
affectation

est
un

bloc)

4096
Foo

Foo
:=

4096
∈
b
loc

Variables
d’autres

types
Les

variables
peuvent

être
de

n’im
porte

quel
type,

en
particulier

:

—
Foo

:Float
(∈

defin
ition)

définit
une

VA
R

IA
B

LE
R

ÉELLE.

—
Foo

:B
oolean

(∈
defin

ition)
définit

une
VA

R
IA

B
LE

B
O

O
LÉEN

N
E.

✖
Les

variables
de

type
String

sont
interdites

(uniquem
ent

des
constantes).

Les
variables

21

Exem
ple

com
plet

:le
fichier

m
ission.adb

1
w

ith
G

Ada.Text_IO
;

3
procedure

M
ission

is

5
package

T
xt

renam
es

G
Ada.Text_IO

;

7
P

i
:

constant
F

loat
:=

3.1415927
;

9
D

É
FIN

IT
IO

N
D

E
LA

F
O

N
C

T
IO

N
S

urface_E
llipse

∈
defin

ition

10
function

S
urface_E

llipse
(G

rand_R
:F

loat
;

P
etit_R

:F
loat)

return
F

loat
is

11
begin

12
return

(P
i

*
G

rand_R
*

P
etit_R

)
;

13
end

S
urface_E

llipse
;

14
S

urface_E
llipse

G
rand_R

:Float
Petit_R

:Float
Float

16
P

R
O

C
É

D
U

R
E

D
E

T
E

S
T

D
E

LA
F

O
N

C
T

IO
N

∈
defin

ition

17
procedure

T
ester_S

urface_E
llipse

(R
ayon1

:F
loat

;
R

ayon2
:F

loat)
is

18
A

ire
:

F
loat

;
19

begin
20

T
xt.P

ut
(A

ff=>
"U
n
e
e
l
l
i
p
s
e
d
e
r
a
y
o
n
s
"

&
R

ayon1’Im
age

21
&
"
e
t
"

&
R

ayon2’Im
age)

;

23
A

ire
:=

S
urface_E

llipse
(G

rand_R
=>

R
ayon1,

Petit_R
=>

R
ayon2)

;
24

T
xt.P

ut_Line
(A

ff=>
"
a
p
o
u
r
s
u
r
f
a
c
e
"

&
A

ire
’Im

age)
;

25
end

T
ester_S

urface_E
llipse

;

26
Tester_S

urface_D
isque

R
ayon1

:Float
R

ayon2
:Float

27
begin

28
T

ester_S
urface_E

llipse
(R

ayon1
=>

1.0
,

R
ayon2

=>
1.0)

;
29

T
ester_S

urface_E
llipse

(R
ayon1

=>
2.0

,
R

ayon2
=>

3.0)
;

30
T

ester_S
urface_E

llipse
(R

ayon1
=>

3.0
,

R
ayon2

=>
4.0)

;
31

end
M

ission
;

Cette
fonction

est
invoquée

ici

Trois
appels

de
la

procédure
(∈

b
loc)

C
e

program
m

e,lorsqu’ilest
com

pilé
puis

exécuté,affiche
cecià

l’écran
:

U
ne

ellipse
de

rayons
1.000E

+00
et1.000E

+00
a

poursurface
3.14159E

+00
U

ne
ellipse

de
rayons

2.000E
+00

et3.000E
+00

a
poursurface

1.88496E
+01

U
ne

ellipse
de

rayons
3.000E

+00
et4.000E

+00
a

poursurface
3.76991E

+01

N
oterque

la
procédure

Tester_S
urface_E

llipse
ne

renvoie
aucune

valeur(carce
n’est

pas
une

fonction),m
ais

a
un

effet
:elle

affi
che

un
m

essage
à

l’écran.

S
urface_E

llipse
(G

rand_R
=>

10.0,
Petit_R

=>
10.0)

∈
Float

Tester_S
urface_E

llipse
(R

ayon1
=>

5.0,
R

ayon2
=>

3.0)
∈
b
loc
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Ex
em

pl
e

d’
ut

ili
sa

ti
on

de
va

ri
ab

le
s

et
de

co
ns

ta
nt

es

D
éfi

ni
ti

on
de

de
ux

va
ri

ab
le

s
∈
de
fi
n
it
io
n Tr

oi
s

af
fe

ct
at

io
ns

∈
b
lo
c

. . .
Se

ui
ld

e
ré

si
st

an
ce

du
sy

st
èm

e
à

l’a
cc

él
ér

at
io

n
(3

g)
S

eu
il_

R
es

is
ta

nc
e

:
co

ns
ta

nt
F

lo
at

:=
3.

0
*

9.
81

;
∈
de
fi
n
it
io
n

Pr
éc

is
io

n
re

la
ti

ve
de

la
m

es
ur

e
de

l’a
cc

él
ér

at
io

n
(4

%
)

P
re

ci
si

on
_M

es
ur

e
:

co
ns

ta
nt

F
lo

at
:=

0.
04

;
∈
de
fi
n
it
io
n

A
cc

el
er

at
io

n
:

F
lo

at
;

A
cc

el
er

at
io

n_
E

st
_A

cc
ep

ta
bl

e
:

B
oo

le
an

;

be
gi

n
O

n
su

pp
os

e
qu

e
la

fo
nc

ti
on

M
es

ur
er

_A
cc

el
er

at
io

n
es

td
éfi

ni
e

(e
lle

re
nv

oi
e

un
ré

el
).

A
cc

el
er

at
io

n
:=

M
es

ur
er

_A
cc

el
er

at
io

n
;

M
aj

or
at

io
n

de
la

m
es

ur
e

av
ec

la
pr

éc
is

io
n

re
la

ti
ve

A
cc

el
er

at
io

n
:=

A
cc

el
er

at
io

n
*

(1
.0

+
P

re
ci

si
on

_M
es

ur
e

)
;

A
cc

el
er

at
io

n_
E

st
_A

cc
ep

ta
bl

e
:=

A
cc

el
er

at
io

n
<

S
eu

il_
R

es
is

ta
nc

e
;

20

U
ne

fo
nc

ti
on

R
EN

V
O

IE
un

ré
su

lt
at

(u
ne

va
le

ur
),

al
or

s
qu

’u
ne

pr
oc

éd
ur

e
ne

re
n-

vo
ie

ri
en

.

D
éfi

ni
ti

on
de

fo
nc

ti
on

à
de

ux
ar

gu
m

en
ts

(e
xe

m
pl

e)

fu
nc

tio
n

Fo
o

(X
:

F
lo

at
;

Y
:

In
te

ge
r)

re
tu

rn
F

lo
at

is
D

éfi
ni

ti
on

s
év

en
tu

el
le

s
R

es
ul

ta
t

:
F

lo
at

;
be

gi
n

C
or

ps
de

la
fo

nc
ti

on
B
∈
b
lo
c

B
; Se

te
rm

in
e

fo
rc

ém
en

t
pa

r
re

tu
rn

re
tu

rn
R

es
ul

ta
t

;
en

d
Fo

o
;

∈
de
fi
n
it
io
n

La
va

ri
ab

le
R

es
ul

ta
t

es
t

ca
lc

ul
ée

da
ns

le
co

rp
s

de
la

fo
nc

ti
on

.

D
éfi

ni
tio

n
de

fo
nc

tio
n

av
ec

ar
gu

m
en

ts

Fo
o

X
:F

lo
at

Y
:I

nt
eg

er
Fl

oa
t

Fo
o

:R
×
N

−→
R

La
fo

nc
ti

on
Fo

o
es

t
dé

jà
dé

fin
ie

,s
oi

t
da

ns
le

pr
og

ra
m

m
e,

so
it

da
ns

un
ac

te
ur

.
L’

in
vo

ca
ti

on
de

la
fo

nc
ti

on
Fo

o
se

fa
it

en
fo

ur
ni

ss
an

tl
es

ar
gu

m
en

ts
(i

ci
X

et
Y

)
qu

id
oi

ve
nt

êt
re

du
bo

n
ty

pe
.L

es
tr

oi
s

in
vo

ca
ti

on
s

su
iv

an
te

s
so

nt
éq

ui
va

le
nt

es
:

Fo
o

(X
=>

4.
5,

Y
=>

12
0)

∈
Fl

oa
t

Fo
o

(Y
=>

12
0,

X
=>

4.
5)

∈
Fl

oa
t

Fo
o

(4
.5

,1
20

)
∈

Fl
oa

t

U
ne

in
vo

ca
ti

on
de

fo
nc

ti
on

n’
es

t
pa

s
un

bl
oc

!
O

n
ne

pe
ut

pa
s

éc
ri

re
:

be
gi

n Fo
o

(X
=>

4.
5

,
Y

=>
12

0)
;

In
vo

ca
tio

n
de

fo
nc

tio
n

av
ec

ar
gu

m
en

ts

R
È

G
LE

de
s

R
et

ur
n

Le
pr

em
ie

r
re

tu
rn

es
t

su
iv

i
d’

un
ty

pe
:

fu
nc

tio
n

Fo
o

(.
..

)r
et

ur
n

un
_t

yp
e

is

Le
se

co
nd

re
tu

rn
es

t
su

iv
i

d’
un

e
ex

pr
es

-
si

on
de

ce
ty

pe
:

re
tu

rn
e

;
av

ec
e
∈

un
_t

yp
e

R
È

G
LE

«
Ap

pe
ld

e
fo

nc
ti

on
»

U
n

ap
pe

l
de

fo
nc

ti
on

es
t

un
e

ex
pr

es
si

on
(c

e
n’

es
t

pa
s

un
bl

oc
)

:

e
∈

Fl
oa

t
et

e′
∈

In
te

ge
r

⇒
Fo

o
(X

=>
e,

Y
=>

e′
)

∈
Fl

oa
t
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U
n

calcul
s’exprim

e
à

l’aide
d’une

expression
n

u
m

ériqu
e,

com
m

e
celle

que
l’on

utilise
sur

une
calculatrice.Par

exem
ple

:

N
b_S

econdes_dans_A
nnee

:constantInteger:=
365

*
24

*
3600

;

☞
U

ne
expression

num
érique

doit
être

hom
ogèn

e,
c.-à-d.

uniquem
ent

addi-
tionner,

m
ultiplier,

diviser,
etc.,

des
entiers

entre
eux

ou
des

réels
entre

eux.
C

ependant,ilest
possible

d’utiliser
une

conversion
(voir

ci-dessous).

☞
U

ne
expression

num
érique

peut
utiliser

des
constantes,des

variables
ou

des
fonctions

sielles
sont

du
m

êm
e

type.
(Voir

les
exem

ples
page

ci-contre.)

E
xpression

num
érique

Classification

e
∈

Integer
expression

entière
e
∈

Float
expression

réelle
e
∈

Boolean
expression

booléenne
(=

assertion)

R
È

G
LE

«
O

pérateurs
arithm

étiques
»

Si
e

et
e ′sont

deux
expressions

telles
que

e
∈

Integer
et

e ′∈
Integer,

alors

e
+
e ′

∈
Integer

e−
e ′

∈
Integer

e∗
e ′

∈
Integer

e
/
e ′

∈
Integer

division
entière

e
m

od
e ′∈

Integer
m

odulo
abs(e)

∈
Integer

valeur
absolue

Idem
pour

les
opérateurs

sur
les

Float.

—
R

éelvers
entier

(Floatvers
Integer),par

arrondi:
Integer(valeur_réelle)

—
Entier

vers
réel(Integervers

Float),par
injection

:
Float(valeur_entière)

A
insi,Integer(12.5)vaut

13
et

Float(132)vaut
132.0.

C
onversion

R
È

G
LE

«
Conversion

»

e
∈

Integer
⇒

Float(e)∈
Float

e
∈

Float
⇒

Integer(e)∈
Integer

R
È

G
LE

«
Puissance

»

La
puissance

n
em

e,
x
n,

s’écrit
x

**
n

e
∈

Float
⇒

e∗∗
e ′∈

Float
et

e ′∈
Integer

19

Exem
ple

de
procédure

avec
argum

ent

&
perm

et
de

coller
deux

chaînes

∈
defin

ition

∈
b
loc

(bloc
séquence)

w
ith

G
Ada.Text_IO

;

procedure
M

ission2
is

package
T

xt
renam

es
G

Ada.Text_IO
;

C
E

T
T

E
P

R
O

C
É

D
U

R
E

A
FFIC

H
E

U
N

M
E

S
S

A
G

E
D

E
B

IE
N

V
E

N
U

E
PA

R
A

M
É

T
R

É

procedure
A

fficher_B
ienvenue

(Nom
_INSA

:
S

tring
)

Is
beginT

xt.P
ut_Line

(A
ff=>

"B
o
n
j
o
u
r,

")
;

T
xt.P

ut_Line
(A

ff=>
"bienvenu

e
a
l’I

N
S
A
d
e
"

&
Nom

_INSA
)

;
end

A
fficher_B

ienvenue
;

beginA
fficher_B

ienvenue
(N

om
_IN

S
A

=>
"T
o
u
lo
u
se")

;
A

fficher_B
ienvenue

(N
om

_IN
S

A
=>

"R
e
n
n
e
s")

;
A

fficher_B
ienvenue

(N
om

_IN
S

A
=>

"L
y
o
n")

;
end

M
ission2

;

A
fficher_B

ienvenue
N

om
_IN

SA
:String

N
ote

:
cette

procédure
A

FFIC
H

E
un

m
essage

m
ais

ne
renvoie

aucun
résultat

(au
contraire

d’une
FO

N
C

T
IO

N
).
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Ex
em

pl
es

d’
ex

pr
es

si
on

s
nu

m
ér

iq
ue

s

☞
U

ne
ex

pr
es

si
on

nu
m

ér
iq

ue
pe

ut
ut

ili
se

r
de

s
co

ns
ta

nt
es

ou
de

s
va

ri
ab

le
s

(c
om

m
e

ic
i

V
ite

ss
e
∈

Fl
oa

t
et

Jo
ur

_S
em

ai
ne

∈
In

te
ge

r)
:

(J
ou

r_
S

em
ai

ne
+

1)
m

od
7

∈
In

te
ge

r

(3
5.

0
*

35
.0

)/
(5

0.
5

-V
ite

ss
e)

∈
Fl

oa
t

m
od

es
t

l’o
pé

ra
te

ur
«

m
od

ul
o

»
x

m
od

y
re

nv
oi

e
le

re
st

e
de

la
di

-
vi

si
on

en
ti

èr
e

de
x

pa
r
y
.

☞
Il

es
t

au
ss

i
po

ss
ib

le
d’

ut
ili

se
r

de
s

fo
nc

ti
on

s
:

50
-F

oo
(x

=>
34

)*
Fo

o(
x

=>
11

/2
)

∈
In

te
ge

r
Fo

o
es

t
un

e
fo

nc
ti

on
dé

fin
ie

av
an

t
le

be
gi

n
du

pr
og

ra
m

m
e

(V
oi

r
la

se
ct

io
n

su
r

le
s

fo
nc

ti
on

s,
pa

ge
20

)

Ex
em

pl
es

de
ca

lc
ul

s
ut

ili
sa

nt
de

s
co

nv
er

si
on

s

C
es

dé
fin

it
io

ns
de

co
ns

ta
nt

es
et

va
ri

ab
le

s
so

nt
pl

ac
ée

s
av

an
t

le
be

gi
n

Fr
eq

ue
nc

e
:

In
te

ge
r

:=
13

5E
6

;
(s

oi
t

13
5

M
H

z)
P

er
io

de
:

F
lo

at
:=

1.
0

/
Fl

oa
t

(F
re

qu
en

ce
)

;
P

er
io

de
_F

au
ss

e
:

F
lo

at
:=

Fl
oa

t
(

1
/

Fr
eq

ue
nc

e
)

;
C

e
ca

lc
ul

re
nv

oi
e

zé
ro

!
D

em
i_

P
er

io
de

:
F

lo
at

:=
P

er
io

de
/

2.
0

;
O

n
do

it
di

vi
se

r
un

ré
el

pa
r

un
ré

el
.

N
ot

es
pe

rs
on

ne
lle

s

18

Le
co

rp
s

d’
un

e
pr

oc
éd

ur
e

av
ec

ar
gu

m
en

ts
dé

pe
nd

de
pa

ra
m

èt
re

s,
qu

e
l’o

n
ap

-
pe

lle
«

ar
gu

m
en

ts
fo

rm
el

s
»

(o
u

«
pa

ra
m

èt
re

s
fo

rm
el

s
»)

.

D
éfi

ni
ti

on
de

pr
oc

éd
ur

e
à

de
ux

ar
gu

m
en

ts
(e

xe
m

pl
e)

pr
oc

ed
ur

e
Fo

o
(B

ar
:

F
lo

at
;

M
oo

:
In

te
ge

r)
is

D
éfi

ni
ti

on
s

év
en

tu
el

le
s

be
gi

n
C

or
ps

de
la

pr
oc

éd
ur

e,
ut

ili
se

B
ar

et
M

oo
B

;
en

d
Fo

o
;

∈
de
fi
n
it
io
n

À
pl

ac
er

av
an

t
le

be
gi

n.

B
do

it
êt

re
un

bl
oc

:
B
∈
b
lo
c

D
éfi

ni
tio

n
de

pr
oc

éd
ur

e
av

ec
ar

gu
m

en
ts

Fo
o

B
ar

:F
lo

at
M

oo
:I

nt
eg

er

La
pr

oc
éd

ur
e

Fo
o

es
t

dé
jà

dé
fin

ie
,s

oi
t

da
ns

le
pr

og
ra

m
m

e,
so

it
da

ns
un

ac
te

ur
.

L’
in

vo
ca

ti
on

de
la

pr
oc

éd
ur

e
Fo

o
se

fa
it

en
fo

ur
ni

ss
an

t
le

s
«

ar
gu

m
en

ts
d’

ap
pe

l»
(o

u
«

pa
ra

m
èt

re
s

d’
ap

pe
l»

)
qu

i
do

iv
en

t
êt

re
du

bo
n

ty
pe

.
Le

s
tr

oi
s

in
vo

ca
ti

on
s

su
iv

an
te

s
so

nt
éq

ui
va

le
nt

es
:

Fo
o

(B
ar

=>
4.

5,
M

oo
=>

12
0)

;
∈
b
lo
c

Fo
o

(M
oo

=>
12

0,
B

ar
=>

4.
5)

;
∈
b
lo
c

Fo
o

(4
.5

,1
20

);
∈
b
lo
c

A
rg

um
en

ts
d’

ap
pe

l

In
vo

ca
tio

n
de

pr
oc

éd
ur

e
av

ec
ar

gu
m

en
ts

R
È

G
LE

«
Ap

pe
ld

e
pr

oc
éd

ur
e

»

U
n

ap
pe

ld
e

pr
oc

éd
ur

e
es

t
un

bl
oc

(e
xe

m
pl

e)
:

e
∈

Fl
oa

t
et

e′
∈

In
te

ge
r

⇒
Fo

o
(B

ar
=>

e,
M

oo
=>

e′
)

∈
b
lo
c
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U
ne

expression
booléenne

(ou
assertion)

est
une

expression
e

telle
que

e
∈

Boolean.Elle
peut

être
ou

bien
vraie

(True)
ou

bien
fausse

(False).
Les

expressions
booléennes

sont
utiles

dans
un

bloc
IF

ou
un

bloc
W

H
ILE

(voir
pages

24
et

28)

E
xpression

booléenne
(assertions)

O
pérateurs

booléens
à

connaître

O
pérateur

É
valuation

O
R

a
or

b
est

vraie
sia

est
vraie

ou
b

est
vraie.

O
u

logique

A
N

D
a

and
b

est
vraie

si
a

estvraie
et

b
estvraie.

Et
logique

N
O

T
nota

vaut
le

con
traire

de
a.

N
on

logique

R
È

G
LE

«
O

pérateurs
booléens

»

e
∈

Boolean
et

e ′∈
Boolean

⇒
e

or
e ′

∈
Boolean

⇒
e

and
e ′∈

Boolean
⇒

not
e

∈
Boolean

O
pérateurs

de
com

paraison
sur

les
nom

bres

O
pérateur

Signification

<
Inférieur

strictem
ent

à

<=
Inférieur

ou
égalà

>
Supérieur

strictem
ent

à

>=
Supérieur

ou
égalà

=
Égalà

/=
D

ifférent
de

R
È

G
LE

«
Com

paraisons
»

e
∈

Integer
et

e ′∈
Integer

⇒
e

<
e ′

∈
Boolean

⇒
e

<=
e ′∈

Boolean
⇒

e
>
e ′

∈
Boolean

⇒
e

>=
e ′∈

Boolean
⇒

e
=
e ′

∈
Boolean

⇒
e

/=
e ′

∈
Boolean

☞
C

es
opérateurs

de
com

paraison
s’appliquent

aussi
à

deux
réels

(Float),
deux

chaînes
de

caractères
(String),et

à
d’autres

types
(p.ex.,type

article).

R
ÈG

LE
:O

n
n’utilise

jam
ais

l’égalité
pour

com
parer

deux
réels.

(N
il’opérateur

«
différent

de
»)

N
otam

m
ent,

ifx
=

0.0
then

...
et

ifx
/=

0.0
then

...
sont

douteux.

A
u

lieu
d’utiliser

le
test

d’égalité,
on

com
pare

la
distance

entre
les

deux
nom

bres
avec

un
seuilϵ

:ainsi,au
lieu

de
x

=
0.0,on

écritplutôt
ifabs(x)<

epsilon
then

...
,

où
epsilon

est
une

constante
définie

au
début

du
program

m
e.
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N
otes

personnelles


